FULL TITTLE OF THE PROJECT: - DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| File No: | Date of Proposal:- |
|----------|--------------------|
| | |

FORM-'A'

Form for seeking prior approval under section 2 of the proposals by the State Government and other authorities

PART-1

(To be filled up by user agency)

| 1. | Project details | |
|-------|---|--|
| (i) | Short narrative of the proposal and project/scheme for which the forest land is required. | DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN. |
| (i) | Number of Families. | NILL |
| (ii) | Map showing the required forest land, boundary of adjoining forest on 1:2 scale map. | Enclosed |
| (ii) | Number of schedule Castes/Schedule Tribe families. | NILL |
| (iii) | Cost of the Project: | 188.65 CR. |
| (iii) | Rehabilitation plain (to be enclosed). | NILL |
| (iv) | Justification for locating the project in forest land. | DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN. survey, various possibilities were explored and all efforts have been made to be utilize minimum forest stretches. The final alignment has been finalized in such a way that the minimum forest area will be required for implementation of the project. Since the land is agricultural land, no disposal of solid effluents and wastes exit. |

| Cost-benefit analysis (to be enclosed) | |
|---|---|
| (co so enclosed). | NILL |
| Employment likely to be Generated | AVIDE . |
| To your and the second | APPROX NO TEMP 70 / PERMANENT 0 |
| Purpose-generated wise breakup of the total land required: | |
| Details of displacement of people due to the | |
| project if any: | NA |
| Whether clearance under Environment | · · · · · · · · · · · · · · · · · · · |
| (Protection) Act, 1986 required (Yes/No). | |
| | NA |
| Undertaking to bear the cost of raising and | |
| maintenance of compensatory a forestation | |
| and/or penal compensatory a forestation as | |
| well as cost for protection and regeneration of | NA |
| Safety Zone, etc. as per the scheme prepared by | |
| the State Govt. (undertaking to be enclosed). | |
| Details of Certificates/ documents enclosed as | KML FILE. |
| required under the instructions. | |
| | land required: Details of displacement of people due to the project if any: Whether clearance under Environment (Protection) Act, 1986 required (Yes/No). Undertaking to bear the cost of raising and maintenance of compensatory a forestation and/or penal compensatory a forestation as well as cost for protection and regeneration of Safety Zone, etc. as per the scheme prepared by the State Govt. (undertaking to be enclosed). Details of Certificates/ documents enclosed as |

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

AMRITSAR

SIGNATURE OF USER AGENCY

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| File No:- | |
|-----------|--|
| | AND DESCRIPTION OF THE PARTY OF |

| Date | of Pro | posal:- | |
|------|--------|---------|--|
|------|--------|---------|--|

CHECK LIST SERIAL NUMBER:-10

Justification for location of the project in forest Area

It is certify that DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

This strip along this road is declared as protected forest. As we have no other approach road falling in the non forest area, therefore it is necessary for us to use protected forest land for ingress and egress of our road total forest land proposed for USE is only 3.620 hectare.

Signatures of User Agency

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

AMRITSAR

Water Supply & Sanitation Div. 1
Tarn Taran

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| .File No: | Date of Proposal:- |
|-----------|--------------------|
| | Date of Hoposai. |

STATEMENT SHOWING DETAILS OF NON FOREST AREAINVOLVED IN THE PROPOSAL

| S. N o. | DISTRICT | DIVISION | RANGE/ TEHSIL/VILLA GE | KHASRA/SUR VEY OR compartment no. or km. stone | NON FOREST AREA INVOLVED IN THE PROPOSAL (HA) | PRESENT LAND USE | REMAR KS. |
|---------------|------------|----------|------------------------------|--|---|---------------------|--------------|
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 |
| 1. | TARN TARAN | AMRITSAR | BHUCHAR KALAN | | 0.0000 НА | Open land | NILL |

Signatures of User Agency

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

AMRITSAR

Executive Engineer Water Supply & Sanitation Div. 1

Tarn Taran

FULL TITTLE OF PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| TTO AT | |
|-----------|--------------------|
| File No.: | Date of Proposal:- |
| | Duic of I toposu. |

CHECK LIST SERIAL NUMBER:- 11

CERTIFICATE FOR MINIMUM USE OF FORST LAND

This is to certify that the forest area involved in the proposal is unavoidable and

barest minimum forest area USE of 3.620 ha.

Signature of User Agency

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

AMRITSAR

Executive Engineer
Water Supply & Sanitation Div. 1

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

STATEMENT SHOWING DETAILS OF FOREST AREA

| File No: | Date of Proposal:- |
|----------|------------------------------|
| | CHECK LIST SERIAL NUMBER:-08 |

| S | District | Division | Range/ | Khasra | Forest | Legal | Remai |
|---|------------|----------|----------------|-------------|----------|-----------|-------|
| | | | Tehsil/Village | /Survey or | Area | status of | S. |
| N | | | | Compartment | involved | Non | |
| 0 | | | | No. or Km. | in the | Forest | |
| | | | | Stone | proposa | Area | |
| | | | | 8 | l (Ha) | | * |
| 1 | 2 | 3 | 4 | 5 | 6 | 7 | 8 |
| 1 | TARN TARAN | AMRITSAR | BHUCHAR | | 3.620 HA | Protected | |
| | | | KALAN | | | forest | 1,00 |
| | | | | 3 | | | |
| | | | | | | | |
| | | | | | | | , . |

Signatures of User Agency

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

AMRITSAR

Executive Engineer Water Supply & Sanitation Div. 1

Tarn Taran

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| File No: | Date of Proposal:- |
|----------|--------------------|
| | J 1 |

Undertaking Regarding Certificate Under F R A

I RAJAT GOPAL EXECUTIVE ENGINEER, (DEPARTMENT OF WATER SUPPLY AND SANITATION) hereby undertake that we have applied FRA certificate from Deputy Commissioner TARN TARAN FCA case of DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

We have no requirement of certificate under fra according to circular.

Signature of the user agency

Water Supply & Sanitation Div. 1

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| EU E NO | |
|---------|------|
| FILE NO | DATE |

DETAIL NOTE ON THE PROJECT

DIVERSION OF 3.620HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

Generate direct employment to 70 TEMP / PERMANENT 0 persons .It would be very convenient of the local Surrounding of about 99 villages.

COUNTERSIGNED BY:-

DIVISIONAL FOREST OFFICER

AMRITSAR

Signatures of User Agency

Water Supply & Sanitation Div. 1
Tarn Taran

FULL TITTLE OF THE PROJECT: DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS ,BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| FILE NO | | | |
|---------|--|------|--|
| TILE NO | | DATE | |

ITEM WISE BREAKUP OF FOREST AREA REQUIRED FOR THE PROJECT

| NAME | LENGTH | WIDTH OF | AREA | AREA | TOTA L | NO. OF | NO OF | No |
|---|--------|-------------|----------|---------|----------------------------|-----------------------|----------------------------|---------------------------|
| DIVERSIO N OF 3.620HA OF FOREST | (MTR) | TRENCH (MM) | (SQ.MTR) | (HA) | FORE ST AREA (HA) | TRE ES TO BE | PLAN TS INVO LVED | UNDER SIZE POLE INVOLVE D |
| LAND FOR | 4590 | 0.6 | 2754 | 0.2754 | | FEL LED | | |
| LAYING SURFACE WATER | 2844 | 0.6 | 1706.4 | 0.17064 | | | | |
| PIPELINE BELONGS | 548 | 0.65 | 356.2 | 0.03562 | | | | s. |
| TO DRINKIN G WATER | 3562 | 0.7 | 2493.4 | 0.24934 | | | | |
| SUPPLY SCHEME | 122 | 0.75 | 91.5 | 0.00915 | | | | |
| IN 99 VILLAGE | 2275 | 0.75 | 1706.25 | 0.17063 | | | | |
| S OF VARIOUS BLOCKS | 22 | 0.8 | 17.6 | 0.00176 | | | | 3 |
| OF DISTRICT TARN | 494 | 0.85 | 419.9 | 0.04199 | | | | |
| TARAN ,TAPPING | 737 | 0.75 | 552.75 | 0.05528 | | | | ×** |
| POINT BHUCHA R KALAN, | 1444 | 0.7 | 1010.8 | 0.10108 | | | | |
| TEHSIL PATTI & | 1072 | 0.7 | 750.4 | 0.07504 | | | | #1 #1 |
| TARN TARAN DISTRICT | 1838 | 0.7 | 1286.6 | 0.12866 | | | | 8 |
| ARN TARAN | 2824 | 0.7 | 1976.8 | 0.19768 | | | | |
| | 675 | 0.7 | 472.5 | 0.04725 | | | | |
| | 126 | 0.65 | 81.9 | 0.00819 | | | | |

| TOTAL | | | 36199.05 | 3.619905 | |
|-------|------|------|----------|----------|--|
| | 861 | 0.65 | 559.65 | 0.05597 | |
| | | | | | |
| | 62 | 0.65 | 40.3 | 0.00403 | |
| | 2113 | 0.6 | 1267.8 | 0.12678 | |
| | 2917 | 0.65 | 1896.5 | 0.18965 | |
| | 2325 | 0.7 | 1627.5 | 0.16275 | |
| | 1228 | 0.7 | 859.6 | 0.08596 | |
| | 1480 | 0.65 | 962 | 0.0962 | |
| | 118 | 0.6 | 70.8 | 0.00708 | |
| | 1176 | 0.7 | 823.2 | 0.08232 | |
| | 2457 | 0.75 | 1842.75 | 0.18428 | |
| | 365 | 0.75 | 273.75 | 0.02738 | |
| | 2348 | 0.8 | 1878.4 | 0.18784 | |
| | 1767 | 0.8 | 1413.6 | 0.14136 | |
| | 1497 | 0.8 | 1197.6 | 0.11976 | |
| | 358 | 0.9 | 322.2 | 0.03222 | |
| | 1413 | 0.9 | 1271.7 | 0.12717 | |
| | 1374 | 0.9 | 1236.6 | 0.12366 | |
| | 2809 | 0.9 | 2528.1 | 0.25281 | |
| | 750 | 0.6 | 450 | 0.045 | |

DETAIL OF FOREST AREA OF VALVE CHAMBER

| NO OF VALVE | CHAMBER DIMENSION LENGTH | WIDTH | SQ M | НА |
|----------------|-----------------------------|--------|--------|-------------|
| | | | | |
| 3 | 400 MM | 400 MM | 0.48 | 0.000048 |
| 1 | 425 MM | 435 MM | 0.1806 | 0.000018062 |
| 3 | 350 MM | 350 MM | 0.3675 | 0.00003675 |
| 3 | 375 MM | 375 MM | 0.4218 | 0.00004218 |
| | | | | |
| 9 | 400 MM | 400 MM | 1.44 | 0.000144 |
| | | | | |
| | | | | |
| 3 | 425 MM | 425 MM | 0.5418 | 0.00005418 |
| | | | | |
| 1 | 450 MM | 450 MM | 0.2025 | 0.00002025 |
| | TOTAL | | 3.6342 | 0.000363422 |

SQ.MTR -36199.05 + 3.6342 = 362026 SQ MT (IN HECTARE 3.620)

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER

AMRITSAR

Signatures of User Agency

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| Date of Proposal: | File No: | Date of Proposal:- |
|-------------------|----------|--------------------|
|-------------------|----------|--------------------|

CHECK LIST SERIAL NUMBER:-13

UNDERTAKING FOR THE PAYMENT OF THE NET PRESENT VALUE OF FOREST AREA.

It is certify that I RAJAT GOPAL EXECUTIVE ENGINEER, (DEPARTMENT OF WATER SUPPLY AND SANITATION) have applied DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

I hereby, undertake to pay the net present value (NPV) of the above forest land.

PLACE:-

Signatures of User Agency

DATE:-

Executive Engineer Water Supply & Sanitation Div. 1

Tarn 'aran

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER

FULL TITTLE OF PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| File No: | Date of Proposal: |
|----------|-------------------|
|----------|-------------------|

CHECK LIST SERIAL NUMBER:-12

UNDERTAKING FOR PAYMENT OF COST OF COMPEENSATORY A FORESTATION

I RAJAT GOPAL EXECUTIVE ENGINEER, (DEPARTMENT OF WATER SUPPLY AND SANITATION) hereby undertake to pay the entire amount for Compensatory A forestation in lieu of the forest area diverted for setting up DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

PLACE:-

Signatures of User Agency

DATE:-

Water Supply & Sanitation Div. 1
Tarn Taran

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| File No: | | Date of Proposal :- |
|----------|--|----------------------|
| | | Dute of Propositi .= |

UNDERTAKING FOR ADDITIONAL PAYMENT OF NET PRESENT VALUE OF FOREST AREA

It is to certify that I RAJAT GOPAL EXECUTIVE ENGINEER, (DEPARTMENT OF WATER SUPPLY AND SANITATION) have applied for DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

I hereby, undertake to pay the additional Net Present Value (NPV) of the above forest land and further undertake that in future any revision of NPV directed by apex court will also be paid.

PLACE :-

Signatures of User Agency

DATE:-

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER

Water Supply & Sanitation Div. 1

Tarn Taran

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| File No: | Date of Proposal: |
|----------|-------------------|

UNDERTAKING FOR THE PAYMENT OF GREENING PUNJAB MISSION FEES

It is certify that <u>I RAJAT GOPAL EXECUTIVE ENGINEER</u>, (DEPARTMENT OF WATER SUPPLY AND SANITATION) have applied for DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

I/We hereby undertaking to pay the Greening Punjab Mission FCA Fee.

PLACE:-

Signature of user Agency

DATE.....

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER

AMRITSAR

FULL TITTLE OF THE PROJECT:- DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

| TART - BY | |
|-----------|--------------------|
| File No: | Date of Proposal:- |

UNDERTAKING

NO SUCH PROPOSAL FOR COMPLIANCE OF CONDITIONS OF STAGE-I APPROVAL IS PENDING WITH THIS DIVISION.

I RAJAT GOPAL EXECUTIVE ENGINEER, (DEPARTMENT OF WATER SUPPLY AND SANITATION) hereby, undertake to DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN, TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

THERE ISNO SUCH PROPOSAL FOR COMPLIANCE OF CONDITIONS OF STAGE-I APPROVAL IS PENDING WITH THIS DIVISION.

PLACE

DATE:-

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER

AMRITSAR

Signatures of User Agency

FULL TITTLE OF PROJECT DIVERSION OF 3.620 HA OF FOREST LAND FOR LAYING SURFACE WATER PIPELINE BELONGS TO DRINKING WATER SUPPLY SCHEME IN 99 VILLAGES OF VARIOUS BLOCKS OF DISTRICT TARN TARAN ,TAPPING POINT BHUCHAR KALAN, TEHSIL PATTI & TARN TARAN DISTRICT TARN TARAN.

Undertaking for Providing Cost of Non-Forest Land equivalent to the forest area being diverted under FCA, 1980

I RAJAT GOPAL EXECUTIVE ENGINEER, (DEPARTMENT OF WATER SUPPLY AND SANITATION) hereby undertake to provide the cost of non forest land equivalent to the forest area being diverted under FCA 1980.

After receipt of the In principle approval, cost of equivalent non forest land Rs. _____ /- as per nature of the project (Rs. as per DC Rate +30%) will be deposited with the forest department.

PLACE:-

Signatures of User Agency

DATE:-

Water Supply & Sanitation Div. 1

Tarn Taran

COUNTERSIGNED BY:

DIVISIONAL FOREST OFFICER